



























































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































In[ ]:= V1 = 1;

T1 = 293.15;

p1 = 10
5
;

p2 = 10
7
;

p4 = p1;

T3 = 473.15;

κ =
7

5
;

V2 = V1
p1

p2

1

κ

// N

T2 =
p2 V2

p1 V1
T1 // N

p3 =
T3

T2
p2;

V3 = V2;

V4 = V3
p3

p4

1

κ

T4 =
p4 V4 T3

p3 V3

(T3 - T4)

(T2 - T1)

Out[ ]= 0.0372759

Out[ ]= 1092.74

Out[ ]= 0.549975

Out[ ]= 161.225

Out[ ]= 0.390104

In[ ]:= W = 0.01 * 3600000;

T = 293.15;

W

T

Out[ ]= 122.804
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